

A Simple Proof of Lerch's Formula

Tom C. Brown and Ján Maňuch

Citation data: T.C. Brown and Jan Manuch, *A simple proof of Lerch's formula*, Proceedings of the Eleventh International Conference on Fibonacci Numbers and their Applications. Numer. **194** (2009), 91–93.

1 Introduction

Using the convergents of the simple continued fraction for a positive irrational number $\alpha = [a_0, a_1, 2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \dots}}$, it is possible to obtain an explicit formula for $\sum_{k=1}^m [k\alpha]$. This has been done several times. (See [4, 6, 7, 9–12]. These papers all deal with the asymptotic behaviour of the function $C_\alpha(m) = \sum_{k=1}^m (\{k\alpha\} - \frac{1}{2})$, where $\{x\}$ denotes the fractional part of x . Since $k\alpha = [k\alpha] + \{k\alpha\}$, $C_\alpha(m) = \sum_{k=1}^m (k\alpha - [k\alpha] - \frac{1}{2}) = \frac{m(m+1)\alpha}{2} - \sum_{k=1}^m [k\alpha] - \frac{m(m+1)}{4}$, any formula for $\sum_{k=1}^m [k\alpha]$ gives a formula for $C_\alpha(m)$ and conversely.)

The simplest formula for $\sum_{k=1}^m [k\alpha]$ is the following one, taken from [4].

When $\alpha < 1$, with $p_n/q_n = [0, a_1, a_2, \dots, a_n]$ (p_n, q_n relatively prime), one has

$$\sum_{k=1}^{q_n} [k\alpha] = \frac{1}{2} (p_n q_n - q_n + p_n + (-1)^n).$$

Applying this to $\frac{1+\sqrt{5}}{2} = 1 + [0, 1, 1, \dots]$ gives (after a little arithmetic) the identity

$$\sum_{k=1}^{F_n} \left[k \left(\frac{1+\sqrt{5}}{2} \right) \right] = \frac{1}{2} (F_n F_{n+1} + F_{n-1} - (-1)^n)$$

where $F_0 = 0, F_1 = 1, F_{n+2} = F_{n+1} + F_n, n \geq 0$.

For general m , one first writes $m = z_t q_{t-1} + \dots + z_2 q_1 + z_1 q_0$, where $0 \leq z_1 \leq a_1 - 1; 0 \leq z_i \leq a_i, 2 \leq i \leq t$; if $z_i = a_i$, then $z_{i-1} = 0, 2 \leq i \leq t$. (This is the so-called “Zeckendorff representation of m .” To find it, subtract the largest possible q_j from m and repeat.) Then

$$\sum_{k=1}^m [k\alpha] = \frac{1}{2} \sum_{1 \leq i \leq t} z_i (z_i p_{i-1} q_{i-1} - q_{i-1} + p_{i-1} + (-1)^{i-1}) + \sum_{1 \leq i < j \leq t} z_i z_j q_{i-1} p_{j-1}$$

However, in the expression $\sum_{k=1}^m [k\alpha] + \sum_{k=1}^{[m\alpha]} [k \frac{1}{\alpha}]$, the complications arising in the two sums miraculously cancel each other out. M. Lerch [8] gave as a problem the identity $\sum_{k=1}^m [k\alpha] + \sum_{k=1}^{[m\alpha]} [k \frac{1}{\alpha}] = m[m\alpha]$. This identity is mentioned in [6] and [7].

The authors are not aware of any published proof of this formula, although it is certainly possible to give a (rather complicated) proof using a formula for $\sum_{k=1}^m [k\alpha]$. We give below a simple direct proof.

2 The Proof of Lerch's Formula

Let x be an irrational number, $x > 1$. Then the set $\{[nx] : n \geq 1\}$ is called a *Beatty sequence*, and is denoted by $x\mathbb{N}$. Our proof of Lerch's formula is based on the following interesting lemma, first popularized by Beatty [1]. (See [2], and the 12 references given in [5].) The papers [3] and [5] generalize this result to sequences of the form $\{[nx + z] : n \geq 1\}$.

Lemma 1. *Let $x > 1$ and $y > 1$ be two irrational numbers such that $\frac{1}{x} + \frac{1}{y} = 1$. Then the Beatty sequences $x\mathbb{N}$ and $y\mathbb{N}$ form a partition of $\mathbb{N} = \{1, 2, \dots\}$.*

Proof. For any $t \in \mathbb{N}$, define $A_t = x\mathbb{N} \cap (0, t)$, $B_t = y\mathbb{N} \cap (0, t)$.

Since $x > 1$, $y > 1$ are irrational, we obtain $\frac{t}{x} - 1 < |A_t| < \frac{t}{x}$ and $\frac{t}{y} - 1 < |B_t| < \frac{t}{y}$. Hence $t - 2 < |A_t| + |B_t| < t$, so $|A_t| + |B_t| = t - 1$, for each $t \geq 1$. Now by induction on t , it easily follows that the sets A_t and B_t form a partition of $\{1, 2, \dots, t - 1\}$. \square

As an immediate consequence we have:

Lemma 2. *Let $a > 0$ and $b > 0$ be two irrational numbers such that $\frac{1}{a} + \frac{1}{b} = 1$. Let n be a positive integer. Then*

$$\sum_{[ka] \leq n} [ka] + \sum_{[kb] \leq n} [kb] = \frac{1}{2}n(n+1)$$

Now we are almost ready to prove Lerch's formula. We will need the following facts about the floor function $[\cdot]$:

Lemma 3. *Let $\alpha > 0$, $x = 1 + \alpha$, $y = 1 + \frac{1}{\alpha}$, and let m, k be positive integers. Then*

(a) $[m\alpha] \frac{1}{\alpha} \leq m \leq [(m\alpha + 1) \frac{1}{\alpha}]$

(b) $[ky] \leq [mx]$ iff $k \leq [m\alpha]$

Proof. Part (a) follows directly from the definition of the floor function. Obviously, $[ky] \leq [mx]$ is equivalent to $k + [k \frac{1}{\alpha}] \leq m + [m\alpha]$.

Now, if $k \leq [m\alpha]$ then, by part (a), $[k \frac{1}{\alpha}] \leq m$. Adding these two inequalities gives $k + [k \frac{1}{\alpha}] \leq m + [m\alpha]$.

On the other hand, if $k > [m\alpha]$, then $k \geq [m\alpha] + 1$, so by part (a), $[k \frac{1}{\alpha}] \geq m$. Adding the first and last of these inequalities gives $k + [k \frac{1}{\alpha}] > m + [m\alpha]$. \square

Theorem 1. *(Lerch's formula) Let a be a positive irrational real number. Then for every positive integer m ,*

$$\sum_{k=1}^m [k\alpha] + \sum_{k=1}^{[m\alpha]} \left[k \frac{1}{\alpha} \right] = m[m\alpha]$$

Proof. Let $x = 1 + \alpha$, $y = 1 + \frac{1}{\alpha}$. By Lemma 2 (with $n = \lfloor mx \rfloor$), we have

$$\begin{aligned} \sum_{\lfloor kx \rfloor \leq \lfloor mx \rfloor} \lfloor kx \rfloor + \sum_{\lfloor ky \rfloor \leq \lfloor mx \rfloor} \lfloor ky \rfloor &= \frac{1}{2} \lfloor mx \rfloor (\lfloor mx \rfloor + 1) \\ &= \frac{1}{2} (m + \lfloor m\alpha \rfloor) (m + \lfloor m\alpha \rfloor + 1) \\ &= \frac{1}{2} m(m+1) + \frac{1}{2} \lfloor m\alpha \rfloor (\lfloor m\alpha \rfloor + 1) + m \lfloor m\alpha \rfloor. \end{aligned}$$

On the other hand, by Lemma 3,

$$\begin{aligned} \sum_{\lfloor kx \rfloor \leq \lfloor mx \rfloor} \lfloor kx \rfloor + \sum_{\lfloor ky \rfloor \leq \lfloor mx \rfloor} \lfloor ky \rfloor &= \sum_{k=1}^m \lfloor kx \rfloor + \sum_{k=1}^{\lfloor m\alpha \rfloor} \lfloor ky \rfloor \\ &= \sum_{k=1}^m k + \lfloor k\alpha \rfloor + \sum_{k=1}^{\lfloor m\alpha \rfloor} \left(k + \left\lfloor k \frac{1}{\alpha} \right\rfloor \right) \\ &= \sum_{k=1}^m \lfloor k\alpha \rfloor + \sum_{k=1}^{\lfloor m\alpha \rfloor} \left\lfloor k \frac{1}{\alpha} \right\rfloor + \frac{1}{2} m(m+1) + \frac{1}{2} \lfloor m\alpha \rfloor (\lfloor m\alpha \rfloor + 1) \end{aligned}$$

Lerch's formula follows. □

3 An Application

Let $\alpha = \frac{1+\sqrt{5}}{2}$, and let $F_0 = 0$, $F_1 = 1$, $F_{n+1} = F_{n+1} + F_n$, $n \geq 0$. When $n > 1$ and $i = 1, 2, 3$, we have the well-known identities

$$\begin{aligned} \lfloor F_n \alpha^i \rfloor &= F_{n+i} - \frac{1}{2} ((-1)^n + 1) \\ \left\lfloor F_{n+1} \frac{1}{\alpha^i} \right\rfloor &= F_n - \frac{1}{2} ((-1)^{n+1} + 1) \end{aligned}$$

These, together with Lerch's formula, give

$$\begin{aligned} \sum_{k=1}^{F_n} \lfloor k\alpha \rfloor + \sum_{k=1}^{F_{n+1}} \left\lfloor k \frac{1}{\alpha} \right\rfloor &= F_n F_{n+1} \\ \sum_{k=1}^{F_n} \lfloor k\alpha^2 \rfloor + \sum_{k=1}^{F_{n+2}} \left\lfloor k \frac{1}{\alpha^2} \right\rfloor &= F_n F_{n+2} \\ \sum_{k=1}^{F_n} \lfloor k\alpha^3 \rfloor + \sum_{k=1}^{F_{n+3}} \left\lfloor k \frac{1}{\alpha^3} \right\rfloor &= F_n F_{n+3} \end{aligned}$$

Adding the first two equations, and equating the resulting right hand side with the right hand side of the third equation, gives the following pleasing identity, valid for $n > 1$:

$$\sum_{k=1}^{F_n} (\lfloor k\alpha \rfloor + \lfloor k\alpha^2 \rfloor) + \sum_{k=1}^{F_{n+1}} \left\lfloor k \frac{1}{\alpha} \right\rfloor + \sum_{k=1}^{F_{n+2}} \left\lfloor k \frac{1}{\alpha^2} \right\rfloor = \sum_{k=1}^{F_n} \lfloor k\alpha^3 \rfloor + \sum_{k=1}^{F_{n+3}} \left\lfloor k \frac{1}{\alpha^3} \right\rfloor$$

References

- [1] S. Beatty, *Problem 3173*, American Mathematical Monthly **34** (1927), 159.
- [2] J. Berstel and P. Séébold, *Sturmian words*, Algebraic Combinatorics on Words (M. Lothaire, ed.), Encyclopedia of Mathematics and its Applications, vol. 90, Cambridge University Press, Cambridge, 2002, pp. 45–110.
- [3] J.M. Borwein and P.B. Borwein, *On the generating function of the integer part: $[n\alpha + \gamma]$* , J. Number Theory **43** (1993), 293–318.
- [4] T.C. Brown and P.J.-S. Shiue, *Sums of fractional parts of integer multiples of an irrational*, J. Number Theory **50** (1995), 181–192.
- [5] A.S. Fraenkel, *The bracket function and complementary sets of integers*, Canadian Journal of Mathematics **21** (1969), 6–27.
- [6] G.H. Hardy and J.E. Littlewood, *Some problems of diophantine approximation: the lattice-points of a right-angled triangle*, Proc. London Math. Soc. **20** (1922), 15–36.
- [7] ———, *Some problems of diophantine approximation: the lattice-points of a right-angled triangle (second memoir)*, Abh. Math. Sem. Univ. Hamburg **1** (1922), 212–249.
- [8] M. Lerch, *Question 1547*, l'Intermédiaire des Mathématiciens **11** (1904), 145–146.
- [9] A. Ostrowski, *Bemerkungen zur theorie der Diophantischen approximationen*, Abh. Math. Sem. Univ. Hamburg **1** (1922), 77–98.
- [10] J. Schoissengeier, *On the discrepancy of $(n\alpha)$* , Acta Arithmetica **64** (1984), 241–279.
- [11] ———, *Abschätzungen für $\sum_{n \leq N} b_1(n\alpha)$* , Monatshefte Math. **102** (1986), 59–77.
- [12] Vera T. Sós, *On the theory of diophantine approximations i (on a problem of a. ostrowski)*, Acta Math. **8** (1957), 461–472.